McConnell, Brue, Barbiero 11th Canadian Edition Macroeconomics
ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 1

1-3
(Key Question) Cite three examples of recent decisions that you made in which you, at least implicitly, weighed marginal costs and marginal benefits.


Student answers will vary, but may include the decision to come to class, to skip breakfast to get a few extra minutes of sleep, to attend college or university, or to make a purchase.  Marginal benefits of attending class may include the acquisition of knowledge, participation in discussion, and better preparation for an upcoming examination.  Marginal costs may include lost opportunities for sleep, meals, or studying for other classes.  In evaluating the discussion of marginal benefits and marginal costs, be careful to watch for sunk costs offered as a rationale for marginal decisions.

.

1-5
(Key Question) Indicate whether each of the following statements applies to microeconomics or macroeconomics:



a.
The unemployment rate in Canada was 7.0 percent in January 2005.



b.
A Canadian software firm discharged 15 workers last month and transferred the 


work to India.



c.
An unexpected freeze in central Florida reduced the citrus crop and caused the price of oranges to rise.



d.
Canadian output, adjusted for inflation, grew by 3.0 percent in 2004.



e.
Last week the Scotia Bank lowered its interest rate on business loans by one-half of 1 percentage point.



f.
The consumer price index rose by 2.2 percent in 2005.


Macroeconomics: (a), (d), and (f)


Microeconomics: (b), (c), and (e)

1-7
(Key Question)
Suppose you won $15 on a Lotto Canada  ticket at the local 7-Eleven and decided to spend all the winnings on candy bars and bags of peanuts.  The price of candy bars is $.75 and the price of peanuts is $1.50.



a.
Construct a table showing the alternative combinations of the two products that are available.



b.
Plot the data in your table as a budget line in a graph.  What is the slope of the budget line?  What is the opportunity cost of one more candy bar?  Of one more bag of peanuts?  Do these opportunity costs rise, fall, or remain constant as each additional unit of the product is purchased.



c.
How, in general, would you decide which of the available combinations of candy bars and bags of peanuts to buy?



d.
Suppose that you had won $30 on your ticket, not $15.  Show the $30 budget line in your diagram.  Why would this budget line be preferable to the old one?


(a)








Consumption alternatives

	Goods
	A
	B
	C
	D
	E
	F

	Candy bars
	0
	4
	8
	12
	16
	20

	Bags of peanuts
	10
	8
	6
	4
	2
	0


(b) 



[image: image1.emf]Candy Bars

20

10

Bags of Peanuts

 

5.

5.1

75 .

 





Slope



The slope for the budget line above, with candy bars on the horizontal axis, is -0.5 (= -Pcb/Pbp).  Note that the figure could also be drawn with bags of peanuts on the horizontal axis.  The slope of that budget line would be -2.


The opportunity cost of one more candy bar is ½ of a bag of peanuts.  The opportunity cost of one more bag of peanuts is 2 candy bars.  These opportunity costs are constant.  They can be found by comparing any two of the consumption alternatives for the two goods.


(c)
The decision of how much of each to buy would involve weighing the marginal benefits and marginal costs of the various alternatives.  If, for example, the marginal benefits of moving from alternative C to alternative D are greater than the marginal costs, then this consumer should move to D (and then compare again with E, and so forth, until MB=MC is attained).


(d)
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The budget line at $30 would be preferable because it would allow greater consumption of both goods.

1-10
(Key Question)
Below is a production possibilities table for consumer goods (automobiles) and capital goods (forklifts):


	Type of Production
	Production Alternatives

	
	
	
	
	
	

	
	A
	B
	C
	D
	E

	
	
	
	
	
	

	Automobiles

Forklifts
	0

30
	2

27
	4

21
	6

12
	8

0

	
	
	
	
	
	



a.
Show these data graphically.  Upon what specific assumptions is this production possibilities curve based?


b.
If the economy is at point C, what is the cost of one more automobile?  Of one more forklift?  Explain how the production possibilities curve reflects the law of increasing opportunity costs.


c.
If the economy characterized by this production possibilities table and curve were 
producing 
3 automobiles and 20 fork lifts, what could you conclude about its use of 
available 
resources?


d.
What would production at a point outside the production possibilities curve indicate?  
What 
must occur before the economy can attain such a level of production?

(a) See curve EDCBA.  The assumptions are full employment, fixed supplies of resources, fixed technology and two goods.
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(b)
4.5 forklifts; .33 automobiles, as determined from the table.  Increasing opportunity costs are reflected in the concave-from-the-origin shape of the curve.  This means the economy must give up larger and larger amounts of rockets to get constant added amounts of automobiles—and vice versa.

(c)
The economy is underutilizing its available resources.  The assumption of full employment has been violated.

(d)
Production outside the curve cannot occur (consumption outside the curve could occur through foreign trade).  To produce beyond the current production possibilities curve this economy must realize an increase in its available resources and/or technology.

  .

1-11
(Key Question)
Specify and explain the typical shapes of the marginal-benefit and marginal-cost curves.  How are these curves used to determine the optimal allocation of resources to a particular product?  If current output is such that marginal cost exceeds marginal benefit, should more or fewer resources be allocated to this product?  Explain.

The marginal benefit curve is downward sloping, MB falls as more of a product is consumed because additional units of a good yield less satisfaction than previous units.  The marginal cost curve is upward sloping, MC increases as more of a product is produced since additional units require the use of increasingly unsuitable resource.  The optimal amount of a particular product occurs where MB equals MC.  If MC exceeds MB, fewer resources should be allocated to this use.  The resources are more valuable in some alternative use (as reflected in the higher MC) than in this use (as reflected in the lower MB).

1-13
(Key Question)  Suppose improvement occurs in the technology of producing forklifts but not in the technology of producing automobiles.  Draw the new production possibilities curve.  Now assume that a technological advance occurs in producing automobiles but not in producing forklifts.  Draw the new production possibilities curve.  Now draw a production possibilities curve that reflects technological improvement in the production of both products.


See the graph for question 1-10.  PPC1 shows improved forklift technology.  PPC2 shows improved auto technology.  PPC3 shows improved technology in producing both products.

1-14
(Key Question)  On average, households in China save 40 percent of their annual income each year, whereas households in the Canada save less than 5 percent.  Production possibilities are growing at roughly 9 percent annually in China and 3.5 percent in Canada.  Use graphical analysis of “present goods” versus “future goods” to explain the differences in growth rates.


Figure 1.6 on page 20 depicts this situation.  Canada would be represented by Figure 1.6a (“Presentville”), producing primarily goods for the present.  China’s situation is depicted by Figure 1.6b (“Futureville”), where emphasis on goods for the future leads to a greater expansion of production possibilities.  

Chapter 1 - Appendix

1A-2
(Key Appendix Question)  Indicate how each of the following might affect the data shown in the table and graph in Figure 2 of this appendix:

a.
IU’s athletic director schedules higher-quality opponents.

b.
An NBA team locates in the city where IU plays.

c.
IU contracts to have all its home games televised.

(a)
More tickets are bought at each price; the line shifts to the right.

(b)
Fewer tickets are bought at each price, the line shifts to the left.

(c)
Fewer tickets are bought at each price, the line shifts to the left.

1A-3
(Key Appendix Question)  The following table contains data on the relationship between saving and income.  Rearrange these data into a meaningful order and graph them on the accompanying grid.  What is the slope of the line?  The vertical intercept?  Interpret the meaning of both the slope and the intercept.  Write the equation which represents this line.  What would you predict saving to be at the $12,500 level of income?

	
	

	Income

(per year)`
	Saving

(per year)

	
	

	
	

	$15,000

0

10,000

5,000

20,000


	$1,000

-500

500

0

1,500



Income column:  $0; $5,000; $10,000, $15,000; $20,000.  Saving column:  $-500; 0; $500; $1,000; $1,500.  Slope = 0.1 (= $1,000 - $500)/($15,000 - $10,000).  Vertical intercept = $-500.  The slope shows the amount saving will increase for every $1 increase in income; the intercept shows the amount of saving (dissaving) occurring when income is zero.  Equation:  S = $-500 + 0.1Y (where S is saving and Y is income).  Saving will be $750 at the $12,500 income level.

1A-7
(Key Appendix Question)  The accompanying graph shows curve XX and tangents at points A, B, and C.  Calculate the slope of the curve at these three points.


Slopes:  at A = +4; at B = 0; at C = -4.

ANSWERS TO END-OF-CHAPTER QUESTIONS

Chapter 2

2-8
(Key Question)  With current technology, suppose a firm is producing 400 loaves of banana bread daily.  Also, assume that the least-cost combination of resources in producing those loaves is 5 units of labour, 7 units of land, 2 units of capital, and 1 unit of entrepreneurial ability, selling at prices of $40, $60, $60, and $20, respectively.  If the firm can sell these 400 units at $2 per unit, will it continue to produce banana bread?  If this firm’s situation is typical for the other makers of banana bread, will resources flow to or away from this bakery good?


The firm will continue to produce as it is earning economic profits of $40  (Total revenue of $800 minus total cost of $760).  If this firm is typical, more resources will flow toward banana bread as other potential firms are attracted to the economic profits.

2‑9
(Key Question)  Some large hardware stores such as Canadian Tire boast of carrying as many as 20,000 different products in each store.  What motivated the producers of those individuals to make them and offer them for sale?  How did producers decide on the best combinations of resources to use?  Who made these resources available, and why?  Who decides whether these particular hardware products should continue to be produced and offered for sale?


The quest for profit led firms to produce these goods.  Producers looked for and found the least-cost combination of resources in producing their output.  Resource suppliers, seeking income, made these resources available.  Consumers, through their dollar votes, ultimately decide on what will continue to be produced.

2-10
What is meant by the term “creative destruction”?  How does the emergence of MP3 (iPod) technology relate to this idea?


Creative destruction refers to the process by which the creation of new products and production techniques destroys the market positions of firms committed to producing only existing products or using outdated methods.  The ability to download and store a large number of songs, and the superior quality of MP3 is causing a decline in the CD industry, just as CDs once replaced cassette tapes, which had previously replaced phonographs (records).

2‑11
In a sentence, describe the meaning of the phrase “invisible hand.”


Market prices act as an “invisible hand,” coordinating an economy by rationing what is scarce, and providing incentives to produce the most desired goods and services.

2-14
(Key Question)  What are the two characteristics of public goods?  Explain the significance of each for public provision as opposed to private provision.  What is the free-rider problem as it relates to public goods?  Is the Canadian border patrol a public good or a private good?  Why?  How about satellite TV?  Explain.


Public goods are non-rival (one person’s consumption does not prevent consumption by another) and non-excludable (once the goods are produced nobody—including free riders—can be excluded from the goods’ benefits).  If goods are non-rival, there is less incentive for private firms to produce them – those purchasing the good could simply allow others the use without compensation.  Similarly, if goods are non-excludable, private firms are unlikely to produce them as the potential for profit is low.  The free-rider problem occurs when people benefit from the public good without contributing to the cost (tax revenue proportionate to the benefit received).  The Canadian border patrol is a public good – my use and benefit does not prevent yours.  Satellite TV is a private good – if the dish, receiver, and service go to my residence it can’t go to my neighbors.  The fact that I could invite my neighbor over to watch does not change its status from being a private good.

2-15
(Key Question)  Draw a production possibilities curve with public goods on the vertical axis and private goods on the horizontal axis. Assuming the economy is initially operating on the curve, indicate how the production of public goods might be increased. How might the output of public goods be increased if the economy is initially operating at a point inside the curve?


On the curve, the only way to obtain more public goods is to reduce the production of private goods (from C to B).


An economy operating inside the curve can expand the production of public goods without sacrificing private goods (say, from A to B) by making use of unemployed resources.
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3-3
(Key Question)  What effect will each of the following have on the demand for small automobiles such as the Mini Cooper and Smart car?

a.
Small automobiles become more fashionable.

b.
The price of large automobiles rises (with the price of small autos remaining the same).

c.
Income declines and small autos are an inferior good.

d.
Consumers anticipate the price of small autos will greatly come down in the near future.

e.
The price of gasoline substantially drops.

Demand increases in (a), (b), and (c); decreases in (d).  The last one (e) is ambiguous.  As autos and gas are complements, one could argue that the decrease in gas prices would stimulate demand for all cars, including small ones.  However, one could also argue that small cars are attractive to consumers because of fuel efficiency, and that a decrease in gas prices effectively reduces the price of the “gas guzzling” substitutes.  That would encourage consumers to switch from smaller to larger cars (SUVs), and demand for small automobiles would fall.  [This presents a good illustration of the complexity of many of these changes.]

3-6
(Key Question)  What effect will each of the following have on the supply of automobile tires?

a.
A technological advance in the methods of producing tires.

b.
A decline in the number of firms in the tire industry.

c.
An increase in the price of rubber used in the production of tires.

d.
The expectation that the equilibrium price of auto tires will be lower in the future than it is currently.

e.
A decline in the price of large tires used for semi-trucks and earth hauling rigs (with no change in the price of auto tires).  

f.
The levying of a per-unit tax in each auto tire sold.

g.
The granting of a 50-cent-per-unit subsidy for each auto tire produced.

Supply increases in (a), (d), (e), and (g); decreases in (b), (c), and (f).

3-8
(Key Question)  Suppose the total demand for wheat and the total supply of wheat per month in the Kansas City grain market are as follows:


	Thousands

of bushels

demanded
	Price

per

bushel
	Thousand

of bushels

supplied
	Surplus (+)

or

shortage (-)

	

	

	85

80

75

70

65

60
	$3.40

3.70

4.00

4.30

4.60

4.90
	72

73

75

77

79

81
	_____

_____

_____

_____
_____

_____



a.
What is the equilibrium price? What is the equilibrium quantity?  Fill in the surplus-shortage column and use it to explain why your answers are correct.

b.
Graph the demand for wheat and the supply of wheat.  Be sure to label the axes of your graph correctly.  Label equilibrium price P and the equilibrium quantity Q.

c.
Why will $3.40 not be the equilibrium price in this market?  Why not $4.90? “Surpluses drive prices up; shortages drive them down.”  Do you agree?

Data from top to bottom:  -13; -7; 0; +7; +14; and +21.
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(a)
Pe = $4.00; Qe = 75,000.  Equilibrium occurs where there is neither a shortage nor surplus of wheat.  At the immediately lower price of $3.70, there is a shortage of 7,000 bushels.  At the immediately higher price of $4.30, there is a surplus of 7,000 bushels.  (See graph above).

(b)
See graph above.

(c)  Because at $3.40 there will be a 13,000 bushel shortage which will drive price up.  Because at $4.90 there will be a 21,000 bushel surplus which will drive the price down.  Quotation is incorrect; just the opposite is true.

3-9
(Key Question)  How will each of the following changes in demand and/or supply affect equilibrium price and equilibrium quantity in a competitive market; that is do price and quantity rise, fall, remain unchanged, or are the answers indeterminate because they depend on the magnitudes of the shifts? Use supply and demand diagrams to verify your answers.

a.
Supply decreases and demand is constant.

b.
Demand decreases and supply is constant.

c.
Supply increases and demand is constant.

d.
Demand increases and supply increases.

e.
Demand increases and supply is constant.

f.
Supply increases and demand decreases.

g.
Demand increases and supply decreases.

h.
Demand decreases and supply decreases.

(a)
Price up; quantity down;

(b)
Price down; quantity down;

(c)
Price down; quantity up;

(d) 
Price indeterminate; quantity up;

(e)
Price up; quantity up;

(f)
Price down; quantity indeterminate;

(g)
Price up, quantity indeterminate;

(h)
Price indeterminate and quantity down.

3-12
(Key Question)  Refer to the table in question 8.  Suppose that the government establishes a price ceiling of $3.70 for wheat.  What might prompt the government to establish this price ceiling?  Explain carefully the main effects.  Demonstrate your answer graphically.  Next, suppose that the government establishes a price floor of $4.60 for wheat.  What will be the main effects of this price floor?  Demonstrate your answer graphically.


At a price of $3.70, buyers will wish to purchase 80,000 bushels, but sellers will only offer 73,000 bushels to the market.  The result is a shortage of 7,000 bushels.  The ceiling prevents the price from rising to encourage greater production, discourage consumption, and relieve the shortage.  See the graph below.
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At a price of $4.60, buyers only want to purchase 65,000 bushels, but sellers want to sell 79,000 bushels, resulting in a surplus of 14,000 bushels.  The floor prevents the price from falling to eliminate the surplus.  See the graph below.
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ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS
Chapter 4
4-3
(Key Question) Why do national income accountants include only final goods in measuring total output GDP in a particular year? Why don’t they include the value of stocks and bonds bought and sold? Why don’t they include the value of used furniture bought and sold?


They are excluded because the dollar value of final goods includes the dollar value of intermediate goods. If intermediate goods were counted, then multiple counting would occur. The value of steel (intermediate good) used in autos is included in the price of the auto (the final product).


This value is not included in GDP because such sales and purchases simply transfer the ownership of existing assets; such sales and purchases are not themselves (economic) investment and thus should not be counted as production of final goods and services.


Used furniture was produced in some previous year; it was counted as GDP then. Its resale does not measure new production.

4-8 (Key Question) Following is a list of domestic output and national income figures for a given     year. All figures are in billions.  Calculate GDP by both the expenditure and income methods. The answers derived by each approach should be the same.

	
	

	Personal consumption expenditures

Capital consumption allowances (depreciation)

Interest and miscellaneous investment income

Net  income of farms and  unincorporated business 

Net  exports

Profits of corporation and government enterprises before taxes

Wages, salaries, and supplementary labour income

Indirect business taxes (less subsidies)

Government current purchases of goods and services

Net  investment (net capital formation)

Taxes less subsidies on factors of production
	$120

20

10

17

+13

42

113

11

40

30

10



	
	



GDP = $223

4-14
(Key Question) The following table shows nominal GDP and an appropriate price index for a group of selected years. Compute real GDP. Indicate in each calculation whether you are inflating or deflating the nominal GDP data.


	
	
	
	

	Year
	Nominal GDP,

billions
	GDP deflator

(1997= 100)
	Real GDP

billions

	
	
	
	

	
	
	
	

	1929

1933

1962

1974

1984

1994

2004
	$6.1

3.5

44.8

173.9

449.6

770.9

1290.2
	
	8.6

7.0

17.6

32.8

71.8

95.2
123.4
	
	$ ______

$ ______

$ ______

$ ______

$ ______

$ ______

$ ______

	
	
	
	




Values for real GDP, top to bottom of the column: $70.9(inflating); $50.0 (inflating); $254.4 
(inflating); $ (inflating); $530.2 (inflating); $626.2 (inflating); 
$809.8(inflating);$1045.5(deflating).

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS
Chapter 5

5-2
(Key Question) Suppose an economy’s real GDP is $30,000 in year 1 and $31,200 in year 2.  What is the growth rate of its real GDP?  Assume that population was 100 in year 1 and 102 in year 2.  What is the growth rate of GDP per capita?  


Growth rate of real GDP = 4 percent (= $31,200 - $30,000)/$30,000).  GDP per capita in year 1 = $300 (= $30,000/100).  GDP per capita in year 2 = $305.88 (= $31,200/102).  Growth rate of GDP per capita is 1.96 percent = ($305.88 - $300)/300).

5.4
Key Question) What are the four major phases of the business cycle? How long do business cycles last? How do seasonal variations and secular trends complicate measurement of the business cycle? Why does the business cycle affect output and employment in durable goods industries more severely than in industries producing non-durables?


The four phases of a typical business cycle, starting at the bottom, are trough, recovery, peak, and recession. As seen in Figure 5-1, the length of a complete cycle varies from about 2 to 3 years to as long as 15 years.


Normally there is a pre-Christmas spurt in production and sales and a January slackening. This normal seasonal variation does not signal boom or recession. From decade to decade, the long-term trend (the secular trend) of the Canadian economy has been upward. A period of no GDP growth thus does not mean that all is normal but that the economy is operating below its trend growth of output.


Because durable goods last, consumers can postpone buying replacements. This happens when people are worried about a recession and whether there will be a paycheque next month. And firms will soon stop producing what people are not buying. Durable goods industries therefore suffer large output declines during recessions. In contrast, consumers cannot long postpone the buying of non-durables such as food; therefore recessions only slightly reduce nondurable output.

5-6
(Key Question) Use the following data to calculate (a) the size of the labour force and (b) the official unemployment rate: total population, 500; population under 15 years of age or institutionalized, 120; not in labour force, 150; unemployed, 23; part-time workers looking for full-time jobs, 10.


Labour force = 230 [= 500 - (120 + 150)]; 
Official unemployment rate = 10% [= (23/230) ( 100].

5-8
(Key Question) Assume that in a particular year the natural rate of unemployment is 5 percent and the actual rate of unemployment is 9 percent. Use Okun’s law to determine the size of the GDP gap in percentage-point terms. If the nominal GDP is $500 billion in that year, how much output is being foregone because of cyclical unemployment?


GDP gap = 8 percent [= (9 – 5) ( 2]; forgone output = $40 billion (= 8% of $500 billion).

5-11
(Key Question) If the price index was 110 last year and is 121 this year, what was this year’s rate of inflation? What is the “rule of 70”? How long would it take for the price level to double if inflation persisted at (a) 2, (b) 5, and (c) 10 percent per year?


This year’s rate of inflation is 10% or [(121 – 110)/110] ( 100.


Dividing 70 by the annual percentage rate of increase of any variable (for instance, the rate of inflation or population growth) will give the approximate number of years for doubling of the variable.
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ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 6

6.7
(Key Question) Suppose a handbill publisher can buy a new duplicating machine for $500 and the duplicator has a 1-year life.  The machine is expected to contribute $550 to the year’s net revenue.  What is the expected rate of return?  If the real interest rate at which funds can be borrowed to purchase the machine is 8 percent, will the publisher choose to invest in the machine?  Explain.


The expected rate of return is 10% ($50 expected profit/$500 cost of machine).  The $50 expected profit comes from the net revenue of $550 less the $500 cost of the machine.


If the real interest rate is 8%, the publisher will invest in the machine as the expected profit (marginal benefit) from the investment exceeds the cost of borrowing the funds (marginal cost).

6-8
(Key Question)  Assume there are no investment projects in the economy which yield an expected rate of return of 25 percent or more.  But suppose there are $10 billion of investment projects yielding expected rate of return of between 20 and 25 percent; another $10 billion yielding between 15 and 20 percent; another $10 billion between 10 and 15 percent; and so forth.  Cumulate these data and present them graphically, putting the expected rate of net return on the vertical axis and the amount of investment on the horizontal axis.  What will be the equilibrium level of aggregate investment if the real interest rate is (a) 15 percent, (b) 10 percent, and (c) 5 percent?  Explain why this curve is the investment‑demand curve.


See the graph below.  Aggregate investment:  (a) $20 billion; (b) $30 billion; (c) $40 billion.  This is the investment-demand curve because we have applied the rule of undertaking all investment up to the point where the expected rate of return, r, equals the interest rate, i.
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6-9
(Key Question)  What is the multiplier effect?  What relationship does the MPC bear to the size of the multiplier?  The MPS?  What will the multiplier be when the MPS is 0, .4, .6, and 1?  What will it be when the MPC is 1, .9, .67, .5, and 0?  How much of a change in GDP will result if firms increase their level of investment by $8 billion and the MPC is .80?  If the MPC is .67?


The multiplier effect describes how an initial change in spending ripples through the economy to generate a larger change in real GDP.  It occurs because of the interconnectedness of the economy, where a change in Lasslett’s spending will generate more income for Gavidia, who will in turn spend more, generating additional income for Grimes.


The MPC is directly (positively) related to the size of the multiplier.  The MPS is inversely (negatively) related to the size of the multiplier.


The multiplier values for the MPS values:  undefined, 2.5, 1.67, 0.


The multiplier values for the MPC values:  undefined, 10, 3 (approx. actually 3.03), 2, 0.


If MPC is .80, change in GDP is $40 billion (5 x $8 = $40)


If MPC is .67, change in GDP

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 7

7-2
(Key Question)  Assuming the level of investment is $16 billion and independent of the level of total output, complete the following table and determine the equilibrium levels of output and employment in this private closed economy.  What are the sizes of the MPC and MPS?


	
	
	
	

	Possible levels

of employment

(millions)
	Real domestic

output (GDP=DI)

(billions)
	Consumption

(billions)
	Saving

(billions)

	
	
	
	
	
	

	
	
	
	
	
	

	40

45

50

55

60

65

70

75

80
	$240

260

280

300

320

340

360

380

400
	
	$244

260

276

292

308

324

340

356

372
	
	$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

	
	
	
	
	
	



Saving data for completing the table (top to bottom):  $-4; $0; $4; $8; $12; $16; $20; $24; $28.


Equilibrium GDP = $340 billion, determined where (1) aggregate expenditures equal GDP (C of $324 billion + I of $16 billion = GDP of $340 billion); or (2) where planned I = S (I of $16 billion = S of $16 billion).  Equilibrium level of employment = 65 million; MPC = .8; MPS = .2.

7-3
(Key Question)  Using the consumption and saving data in question 2 and assuming investment is $16 billion, what are saving and planned investment at the $380 billion level of domestic output?  What are saving and actual investment at that level?  What are saving and planned investment at the $300 billion level of domestic output?  What are the levels of saving and actual investment?  Use the concept of unplanned investment to explain adjustments toward equilibrium from both the $380 and $300 billion levels of domestic output.


At the $380 billion level of GDP, saving = $24 billion; planned investment = $16 billion (from the question).  This deficiency of $8 billion of planned investment causes an unplanned $8 billion increase in inventories.  Actual investment is $24 billion (= $16 billion of planned investment plus $8 billion of unplanned inventory investment), matching the $24 billion of actual saving.


At the $300 billion level of GDP, saving = $8 billion; planned investment = $16 billion (from the question).  This excess of $8 billion of planned investment causes an unplanned $8 billion decline in inventories.  Actual investment is $8 billion (= $16 billion of planned investment minus $8 billion of unplanned inventory disinvestment) matching the actual of $8 billion.


When unplanned investments in inventories occur, as at the $380 billion level of GDP, businesses revise their production plans downward and GDP falls. When unplanned disinvestments in inventories occur, as at the $300 billion level of GDP; businesses revise their production plans upward and GDP rises.  Equilibrium GDP—in this case, $340 billion—occurs where planned investment equals saving.

7-9
(Key Question)  The data in columns 1 and 2 of the table below are for a private closed economy.

	
	
	
	
	
	

	(1)

Real

domestic

output

(GDP=DI)

billions
	(2)

Aggregate

Expenditures,

private closed

economy,

billions
	(3)

Exports,

billions
	(4)

Imports,

billions
	(5)

Net

exports,

private

economy
	(6)

Aggregate

expenditures,

open

billions

	
	
	
	
	
	

	
	
	
	
	
	

	$200

$250

$300

$350

$400

$450

$500

$550
	$240

$280

$320

$360

$400

$440

$480

$520
	$20

$20

$20

$20

$20

$20

$20

$20
	$30

$30

$30

$30

$30

$30

$30

$30
	$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____
	$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

$ _____

	
	
	
	
	
	



a.
Use columns 1 and 2 to determine the equilibrium GDP for this hypothetical economy.

b.
Now open up this economy to international trade by including the export and import figures of columns 3 and 4.  Fill in columns 5 and 6 to determine the equilibrium GDP for the open economy.  Explain why this equilibrium GDP differs from that of the closed economy.

c.
Given the original $20 billion level of exports, what would be the equilibrium GDP if imports were $10 billion greater at each level of GDP?  

d.
What is the multiplier in this example?

(a)
Equilibrium GDP for closed economy = $400 billion.

(b)
Net export data for column 5 (top to bottom); $-10 billion in each space.  Aggregate expenditure data for column 6 (top to bottom):  $230; $270; $310; $350; $390; $430; $470; $510.  Equilibrium GDP for the open economy is $350 billion, $50 billion below the $400 billion equilibrium GDP for the closed economy.  The $-10 billion of net exports is a leakage that reduces equilibrium GDP by $50 billion.  

(c)
Imports = $40 billion:  Aggregate expenditures in the private open economy would fall by $10 billion at each GDP level and the new equilibrium GDP would be $300 billion.  

(d)
Since every rise of $50 billion in GDP increases aggregate expenditures by $40 billion, the MPC is .8 and so the multiplier is 5.

7-12
(Key Question)  Refer to columns 1 and 6 of the tabular data for question 9.  Incorporate government into the table by assuming that it plans to tax and spend $20 billion at each possible level of GDP.  Also assume that all taxes are personal taxes and that government spending does not induce a shift in the private aggregate expenditures schedule.  Compute and explain the changes in equilibrium GDP caused by the addition of government.


Before G is added, open private sector equilibrium will be at $350.  The addition of government expenditures of G to our analysis raises the aggregate expenditures (C + Ig +Xn + G) schedule and increases the equilibrium level of GDP as would an increase in C, Ig, or Xn.  Note that changes in government spending are subject to the multiplier effect.  Government spending supplements private investment and export spending (Ig + X + G), increasing the equilibrium GDP to $450.


The addition of $20 billion of government expenditures and $20 billion of personal taxes increases equilibrium GDP from $350 to $370 billion.  The $20 billion increase in G raises equilibrium GDP by $100 billion (= $20 billion x the multiplier of 5); the $20 billion increase in T reduces consumption by $16 billion at every level.  (= $20 billion x the MPC of .8).  This $16 billion decline in turn reduces equilibrium GDP by $80 billion ($16 billion x multiplier of 5).  The net change from including balanced government spending and taxes is $20 billion (= $100 billion - $80 billion).

7-13
(Key Question)  Refer to the table below in answering the questions which follow:


	(1)

Possible levels

of employment,

millions
	(2)

Real domestic

output,

billions
	(3)

Aggregate Expenditures

(Ca+Ig+Xn+G),

billions

	90

100

110

120

130
	
	$500

550

600

650

700
	
	$520

560

600

640

680
	


a.
If full employment in this economy is 130 million, will there be an inflationary expenditure gap or a recessionary expenditure gap?  What will be the consequence of this gap?  By how much would aggregate expenditures in column 3 have to change at each level of GDP to eliminate the inflationary expenditure gap or recessionary expenditure gap?  Explain.  What is the multiplier in this example?

b.
Will there be an inflationary expenditure gap or recessionary expenditure gap if the full-employment level of output is $500 billion?  Explain the consequences.  By how much would aggregate expenditures in column 3 have to change at each level of GDP to eliminate the gap?  Explain.  What is the multiplier in this example?

c.
Assuming that investment, net exports, and government expenditures do not change with changes in real GDP, what are the sizes of the MPC, the MPS, and the multiplier?

(a)
A recessionary gap.  Equilibrium GDP is $600 billion, while full employment GDP is $700 billion.  Employment will be 20 million less than at full employment.  Aggregate expenditures would have to increase by $20 billion (= $700 billion -$680 billion) at each level of GDP to eliminate the recessionary gap.  The MPC is .8, so the multiplier is 5.

(b)
An inflationary gap.  Aggregate expenditures will be excessive, causing demand-pull inflation.  Aggregate expenditures would have to fall by $20 billion (= $520 billion -$500 billion) at each level of GDP to eliminate the inflationary gap.  The multiplier is still 5 – the level of full employment GDP does not affect the multiplier.

(c)
MPC = .8 (= $40 billion/$50 billion); MPS = .2 (= 1 -.8); multiplier = 5 (= 1/.2).

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 8

8-4
(Key Question) Suppose that aggregate demand and the short run supply for a hypothetical economy are as shown below:


	
	
	

	Amount of

real domestic

output demanded,

billions
	Price level

(price index)
	Amount of

real domestic

output supplied,

billions

	
	
	
	
	

	
	
	
	
	

	$100

200

300

400

500
	
	300

250

200

150

150
	$400

400

300

200

100
	

	
	
	
	
	


a.
Use these sets of data to graph the aggregate demand and supply curves. What will be the equilibrium price level and level of real domestic output in this hypothetical economy? Is the equilibrium real output also the absolute full‑capacity real output? Explain.

b.
Why will a price level of 150 not be an equilibrium price level in this economy? Why not 250?

c.
Suppose that buyers desire to purchase $200 billion of extra real domestic output at each price level. What factors might cause this change in aggregate demand? What is the new equilibrium price level and level of real output?

(a)
See the graph. Equilibrium price level = 200. Equilibrium real output = $300 billion. No, the full-capacity level of GDP is $400 billion, where the AS curve becomes vertical

(b)
At a price level of 150, real GDP supplied is a maximum of $200 billion, less than the real GDP demanded of $400 billion. The shortage of real output will drive the price level up. At a price level of 250, real GDP supplied is $400 billion, which is more than the real GDP demanded of $200 billion. The surplus of real output will drive down the price level. Equilibrium occurs at the price level at which AS and AD intersect.

(c)
See the graph. Increases in consumer, investment, government, or net export spending might shift the AD curve rightward. New equilibrium price level = 250. New equilibrium GDP = $400 billion.


[image: image10.wmf]Question 8-4


8.5
(Key Question) Suppose that the hypothetical economy in question 4 had the following relationship between its real domestic output and the input quantities necessary for producing that level of output:

a.
What is the level of productivity in this economy?

b.
What is the per unit cost of production if the price of each input is $2?

c.
Assume that the input price increases from $2 to $3 with no accompanying change in productivity. What is the new per unit cost of production? In what direction did the $1 increase in input price push the aggregate supply curve? What effect would this shift in aggregate supply have upon the price level and the level of real output?

d.
Suppose that the increase in input price had not occurred but instead that productivity had increased by 100 percent. What would be the new per unit cost of production? What effect would this change in per unit production cost have on the aggregate supply curve? What effect would this shift in aggregate supply have on the price level and the level of real output?


	
	

	Input

quantity
	Real domestic
output

	
	
	
	

	
	
	
	

	150.0

112.5

75.0
	
	400

300

200
	

	
	
	
	


(a)
Productivity = 2.67 (= 300 / 112.5).


(b) 
Per unit cost of production = $.75 (= $2 ( 112.5 / 300).

(c)

[image: image11.wmf].
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 The AS curve would shift leftward. The price level 
 would rise and real output would decrease.

(d)
New per unit cost of production = $0.375 (= $2 ( 112.5 / 300).
AS curve shifts to the right; price level declines and real output increases.

8-6
(Key Question) What effects would each of the following have on aggregate demand or aggregate supply?  In each case use a diagram to show the expected effects on the equilibrium 
price level and level of real output.  Assume that all other things remain constant.

a.
A widespread fear of depression on the part of consumers.

b.
A $2 increase in the excise tax on a pack of cigarettes.

c.
A reduction in interest rates at each price level.

d.
A major increase in federal spending for health care.

e.
The expectation of rapid inflation.

f.
The complete disintegration of OPEC, causing oil prices to fall by one-half.

g.
A 10 percent reduction in personal income tax rates.

h.
A sizable increase in labour productivity (with no change in nominal wages).

i.
A 12 percent increase in nominal wages (with no change in productivity).

j.
Depreciation in the international value of the dollar.

(a)
AD curve left, output down, and price level down (assuming no ratchet effect).

(b)
AS curve left, output down, and price level up.

(c)
AD curve right, output and price level up.

(d)
AD curve right, output and price level up (any real improvements in health care resulting from the spending would eventually increase productivity and shift AS right).

(e)
AD curve right, output and price level up.

(f)
AS curve right, output up and price level down.

(g)
AD curve right, output and price level up.

(h)
AS curve right, output up and price level down.

(i)
AS curve left, output down and price level up.

(j)
AD curve right (increased net exports); AS curve left (higher input prices)

8-7
(Key Question) Assume that (a) the price level is flexible upward but not downward and (b) the economy is currently operating at its full-employment output.  Other things equal, how will each of the following affect the equilibrium price level and equilibrium level of real output in the short run?

a.
An increase in aggregate demand in an economy close to capacity utilization.

b.
Price level increase and real output decrease.

c.
An equal increase in both aggregate demand and aggregate supply.

d.
A reduction in aggregate demand in an economy with slack in it.

e.
An increase in aggregate demand and a decrease in aggregate supply.

(a)
Price level rises and no change in real output.

(b)
Price level drops and real output increases.

(c)
Price level does not change, but real output rises.

(d)
Price level does not change, but real output declines.

(e)
Price level increases, but the change in real output is indeterminate.

8-12
(Key Question) Suppose the full employment level of real output (Q) for a hypothetical economy is $250 and the price level (P) initially is 100. Use the short-run aggregate supply schedules below to answer the questions which follow:

	
	
	

	AS(P=100)
	AS(P=125)
	AS(P=75)

	P
	Q
	P
	Q
	P
	Q

	
	
	
	
	
	
	
	
	
	
	
	

	125

100

75
	
	280

250

220
	
	125

100

75
	
	250

220

190
	
	125

100

75
	
	310

280

250
	

	
	
	
	
	
	
	
	
	
	
	
	


a.
What will be the level of real output in the short run if the price level unexpectedly rises from 100 to 125 because of an increase in aggregate demand? What if the price level falls unexpectedly from 100 to 75 because of a decrease in aggregate demand? Explain each situation, using numbers from the table.

b.
What will be the level of real output in the long run when the price level rises from 100 to 125? When it falls from 100 to 75? Explain each situation.

c.
Show the circumstances described in parts a and b on graph paper, and derive the long-run aggregate supply curve.

(a)
$280; $220. When the price level rises from 100 to 125 [in aggregate supply schedule AS(P100)], producers experience higher prices for their products. Because nominal wages are constant, profits rise and producers increase output to Q = $280. When the price level decreases from 100 to 75, profits decline and producers adjust their output to Q = $75. These are short-run responses to changes in the price level.

(b)
$250; $250. In the long run, a rise in the price level to 125 leads to nominal wage increases. The AS(P100) schedule changes to AS(P125) and Q returns to $250, now at a price level of 125. In the long run, a decrease in price level to 75 leads to lower nominal wages, yielding aggregate supply schedule AS(P75). Equilibrium Q returns to $250, now at a price level of 75.

(c)
Graphically, the explanation is identical to Figure 8-10. Short-run AS: P1 = 100; P2 = 125; 
P3 = 75; and Q1 = $250; Q2 = $280; and Q3 = $220. Long-run aggregate supply = Q1 = $250 at each of the three price levels.

8‑13
 (Key Question) Use graphical analysis to show how each of the following would affect the       economy first in the short run and then in the long run.  Assume that Canada  is initially operating at its full-employment level of output, that prices and wages are eventually flexible both upward and downward, and that there is no counteracting fiscal or monetary policy.

a.
Because of a war abroad, the oil supply to Canada is disrupted, sending oil prices rocketing upward.

b.
Construction spending on new homes rises dramatically, greatly increasing total Canadian investment spending.

c.
Economic recession occurs abroad, significantly reducing foreign purchases of Canadian exports.

(a)
Short run:  The aggregate supply curve shifts to the left, the price level rises, and real output declines.  Long run:  The aggregate supply curve shifts back rightward (due to declining nominal wages), the price level falls, and real output increases.

(b)
Short run:  The aggregate demand curve shifts to the right, and both the price level and real output increase.  Long run:  The aggregate supply curve shifts to the left (due to higher nominal wages), the price level rises, and real output declines.

(c)
Short run:  The aggregate demand curve shifts to the left, both the price level and real output decline.  Long run:  The aggregate supply curve shifts to the right, the price level falls further, and real output increases.

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 9

9-1
(Key Question)  What are government’s fiscal policy options for an inflationary gap?  Use the aggregate demand-aggregate supply model to show the impact of these policies on the price level.  Which of these fiscal policy options do you think might be favoured by a person who wants to preserve the size of government?  A person who thinks the public sector is too large?


Options are to reduce government spending, increase taxes, or some combination of both.  See Figure 9.2.  If the price level is flexible downward, it will fall.  In the real world, the goal is to reduce inflation—to keep prices from rising so rapidly—not to reduce the price level.  A person wanting to preserve the size of government might favour a tax hike and would want to preserve government spending programs.  Someone who thinks that the public sector is too large might favour cuts in government spending since this would reduce the size of government.  

9-4
(Key Question)  Define the “cyclically adjusted budget,” explain its significance, and state why it may differ from the “actual budget.”  Suppose the full-employment, non-inflationary level of real output is GDP3 (not GDP2) in the economy depicted in Figure 11.3.  If the economy is operating at GDP2  instead of GDP3, what is the status of its cyclically adjusted budget?  The status of its current fiscal policy?  What change in fiscal policy would you recommend?  How would you accomplish that in terms of the G and T lines in the figure?

The cyclically adjusted budget measures what the Federal deficit or surplus would be if the economy reached full-employment level of GDP with existing tax and spending policies.  If the cyclically adjusted budget is balanced, then the government is not engaging in either expansionary or contractionary policy, even if, for example, a deficit automatically results when GDP declines.  The “actual” budget is the deficit or surplus that results when revenues and expenditures occur over a year if the economy is not operating at full-employment.

Looking at Figure 11.3, if full-employment GDP level was GDP3, then the standardize budget is contractionary since a surplus would exist.  Even though the “actual” budget has no deficit at GDP2, fiscal policy is contractionary.  To move the economy to full-employment, government should cut taxes or increase spending.  You would raise G line or lower T line or combination of each until they intersect at GDP3.

9‑6
(Key Question)  Briefly state and evaluate the problem of time lags in enacting and applying fiscal policy.  Explain the notion of a political business cycle.  How might expectations of a near-term policy reversal weaken fiscal policy based on changes in tax rates?  What is the crowding‑out effect and why might it be relevant to fiscal policy?    In view of your answers, explain the following statement:  “Although fiscal policy clearly is useful in combating the extremes of severe recession and demand-pull inflation, it is impossible to use fiscal policy to fine-tune the economy to the full-employment, non-inflationary level of real GDP and keep the economy there indefinitely.”


It takes time to ascertain the direction in which the economy is moving (recognition lag), to get a fiscal policy enacted into law (administrative lag); and for the policy to have its full effect on the economy (operational lag).  Meanwhile, other factors may change, rendering inappropriate a particular fiscal policy.  Nevertheless, discretionary fiscal policy is a valuable tool in preventing severe recession or severe demand-pull inflation.


A political business cycle is the concept that politicians are more interested in re-election than in stabilizing the economy.  Before the election, they enact tax cuts and spending increases to please voters even though this may fuel inflation.  After the election, they apply the brakes to restrain inflation; the economy will slow and unemployment will rise.  In this view the political process creates economic instability.


A decrease in tax rates might be enacted to stimulate consumer spending.  If households receive the tax cut but expect it to be reversed in the near future, they may hesitate to increase their spending.  Believing that tax rates will rise again (and possibly concerned that they will rise to rates higher than before the tax cut), households may instead save their additional after-tax income in anticipation of needing to pay taxes in the future.


The crowding-out effect is the reduction in investment spending caused by the increase in interest rates arising from an increase in government spending, financed by borrowing.  The increase in G was designed to increase AD but the resulting increase in interest rates may decrease I.  Thus the impact of the expansionary fiscal policy may be reduced.


As suggested, the other answers help explain the quote.  While fiscal policy is useful in combating the extremes of severe recession with its built-in “safety nets” and stabilization tools, and while the built-in stabilizers can also dampen spending during inflationary periods, it is undoubtedly not possible to keep the economy at its full-employment, non-inflationary level of real GDP indefinitely.  There is the problem of timing.  Each period is different, and the impact of fiscal policy will affect the economy differently depending on the timing of the policy and the severity of the situation.  Fiscal policy operates in a political environment in which the unpopularity of higher taxes and specific cuts in spending may dictate that the most appropriate economic policies are ignored for political reasons.  Finally, there are offsetting decisions that may be made at any time in the private and/or international sectors.  For example, efforts to revive the economy with more government spending could result in reduced private investment or lower net export levels.


Even if it were possible to do any fine tuning to get the economy to its ideal level in the first place, it would be virtually impossible to design a continuing fiscal policy that would keep it there, for all of the reasons mentioned above.

9-8
(Key Question)  How do economists distinguish between the absolute and relative sizes of the public debt?  Why is the distinction important?  Distinguish between refinancing the debt and retiring the debt.  How does an internally held public debt differ from an externally held public debt?  Contrast the effects of retiring an internally held debt and retiring an externally held debt.


There are two ways of measuring the public debt:  (1) measure its absolute dollar size; (2) measure its relative size as a percentage of GDP.  The distinction is important because the absolute size doesn’t tell you about an economy’s capacity to repay the debt.  


Refinancing the public debt simply means rolling over outstanding debt—selling “new” bonds to retire maturing bonds.  Retiring the debt means purchasing bonds back from those who hold them or paying the bonds off at maturity.


An internally held debt is one in which the bondholders live in the nation having the debt; an externally held debt is one in which the bondholders are citizens of other nations.  Paying off an internally held debt would involve buying back government bonds.  This could present a problem of income distribution because holders of the government bonds generally have higher incomes than the average taxpayer.  But paying off an internally held debt would not burden the economy as a whole—the money used to pay off the debt would stay within the domestic economy.  In paying off an externally held debt, people abroad could use the proceeds of the bonds sales to buy products or other assets from the Canada.  However, the dollars gained could be simply exchanged for foreign currency and brought back to their home country.  This reduces Canada’s foreign reserves holdings and may lower dollar exchange rate.

9-11
(Key Question)  Trace the cause-and-effect chain through which financing and refinancing of the public debt might affect real interest rates, private investment, the stock of capital, and economic growth.  How might investment in public capital and complementarities between public and private capital alter the outcome of the cause-effect chain?

Cause and effect chain:  Government borrowing to finance the debt competes with private borrowing and drives up the interest rate; the higher interest rate causes a decline in private capital and economic growth slows.


However, if public investment complements private investment, private borrowers may be willing to pay higher rates for positive growth opportunities.  Productivity and economic growth could rise.

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 10

10-3
(Key Question) What are the components of the M1 money supply? What is the largest component of the M1 money supply? Which of the components of M1 is legal tender? Why is the face value of a coin greater than its intrinsic value? Distinguish between M2 and M2+ and M2++. What are near‑monies? 


M1 = currency (in circulation) + chequable (demand) deposits. The largest component of M1 is chequable deposits. If the face value of a coin were not greater than its intrinsic (metallic) value, people would remove coins from circulation and sell them for their metallic content. M2 = M1 + personal savings deposits and non-personal (business) notice deposits at chartered banks. M2+ = M2  + deposits at trust and mortgage loan companies,  caisses populaires and credit unions, and government savings institutions +  money market mutual funds, and life insurance annuities. M2++ = M2+ + Canada Savings Bonds and other retail instruments + non-money market funds.


Near-monies represent wealth; the more wealth people have, the more they are likely to spend out of current income. Also, the fact that near-monies are liquid adds to potential economic instability. People may cash in their near-monies and spend the proceeds while the monetary authorities are trying to stem inflation by reducing the money supply. Finally, near-monies can complicate monetary policy because M1, M2,  M2+, and M2++  do not always change in the same direction.


The argument for including non-chequable savings deposits in a definition of money is that saving deposits can quickly be transferred to a chequing account or withdrawn as cash and spent.

10-5
(Key Question) Suppose the price level and value of the dollar in year 1 are 1.0 and $1.00, respectively. If the price level rises to 1.25 in year 2, what is the new value of the dollar? If instead the price level had fallen to .50, what would have been the value of the dollar? What generalization can you draw from your answer?


In the first case, the value of the dollar (in year 2, relative to year 1) is $.80 (= 1/1.25); in the second case the value is $2 (= 1/.50). Generalization: the price level and the value of the dollar are inversely related.

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 11

11‑2
(Key Question) Why do chartered banks hold reserves?  Explain why reserves are an asset to chartered banks but a liability to the Bank of Canada.  What are excess reserves?  How do you calculate the amount of excess reserves held by a bank?  What is the significance of excess reserves?


Reserves are assets of chartered banks because these funds are cash belonging to them; they are a claim the chartered banks have against the Bank of Canada.  Reserves deposited at the Bank of Canada are a liability to the Bank of Canada because they are funds it owes; they are claims that chartered banks have against it.


Excess reserves are the amount by which actual reserves exceed desired reserves:  Excess reserves:  Excess reserves = actual reserves - desired reserves.  Chartered banks can safely lend excess reserves, thereby increasing the money supply.

11‑4
(Key Question)  “When a chartered bank makes loans, it creates money; when loans are repaid, money is destroyed.”  Explain.


Banks add to chequing account balances when they make loans; these chequable deposits are part of the money supply.  People pay off loans by writing cheques; chequable deposits fall, meaning the money supply drops.  Money is “destroyed.”

11-8
(Key Question) Suppose the Yukon Bank has the following simplified balance sheet. The reserve ratio is 6.25 percent.


	
	
	
	
	

	
	
	Assets

(1)      (2)
	
	Liabilities and net worth

(1)            (2)

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	Reserves

Securities

Loans
	$22,000

38,000

40,000
	____
____
____
____
	____
____
____
____
	Demand deposits $100,000
	_____
	_____


a.
What is the maximum amount of new loans that this bank can make? Show in column 1 how the bank’s balance sheet will appear after the bank has loaned this additional amount.

b.
By how much has the supply of money changed? Explain.

c.
How will the bank’s balance sheet appear after cheques drawn for the entire amount of the new loans have been cleared against this bank? Show this new balance sheet in column 2.

d.
Answer questions a, b, and c on the assumption that the reserve ratio is 10 percent. 

	Assets


	
	(1)
	(2)
	Liabilities and net worth
	(1)
	(2)

	Reserves
	$22,000
	$22,000
	$  6,250
	Demand deposits
	$100,000
	$115,750
	$100,000

	Securities
	$38,000
	$38,000
	$38,000
	
	
	
	

	Loans
	$40,000
	$55,750
	$55,750
	
	
	
	



Desired reserves are 6.25% of $100,000 = $6,250.


Actual reserves = $22,000


Desired reserves = $ 6,250


Excess reserves = $15,750

(a)
The maximum amount of new loans the bank may make is $15,750. The new balance sheet is shown in column 1 above.

(b) 
The money supply has increased by $15,750, since this is the amount by which demand deposits have increased, and demand deposits are part of the money supply.

(c)
After cheques are drawn for the entire amount of the loan and cleared against this bank, its balance sheet will appear as column 2 above.

(d) 
Desired reserves are now $10,000 (-10% of $100,000). Excess reserves are now $12,000 ($22,000 - $10,000), which this bank may safely lend. When it does so, the money supply increases by $12,000. 


Questions (a) and (b) are answered below, with the change in the desired reserve ratio factored in.


	Assets


	
	 (1)
	 (2)
	Liabilities and net worth
	 (1)
	 (2)

	Reserves
	$22,000
	$22,000
	$10,000
	Demand deposits
	$100,000
	$112,000
	$100,000

	Securities
	$38,000
	$38,000
	$38,000
	
	
	
	

	Loans
	$40,000
	$52,000
	$52,000
	
	
	
	


11‑13
(Key Question) Suppose the simplified consolidated balance sheet shown below is for the entire chartered banking system.  All figures are in billions.  The desired reserve ratio is 25 percent.


	
	
	

	Assets


	
(1)
	Liabilities and Net Worth


(2)

	
	
	
	
	

	
	
	
	
	

	Reserves

Securities

Loans
	$  52  ___

48  ___

100  ___


	
	Demand deposits
	$200  ___


a.
What amount of excess reserves does the chartered banking system have?  What is the maximum amount the banking system might lend?  Show in column 1 how the consolidated balance sheet would look after this amount has been lent.  What is the monetary multiplier?

b.
Answer the questions in part a assuming that the reserve ratio is 20 percent.  Explain the resulting difference in the lending ability of the chartered banking system.

(a)
Desired reserves = $50 billion (= 25% of $200 billion); so excess reserves = $2 billion (= $52 billion - $50 billion).  Maximum amount banking system can lend = $8 billion (= 1/.25  $2 billion).  Column (1) of Assets data (top to bottom):  $52 billion; $48 billion; $108 billion.  Column (1) of Liabilities data:  $208 billion.  Monetary multiplier = 4 (= 1/.25).

(b)
Desired reserves = $40 billion (= 20% of $200 billion); so excess reserves = $12 billion (= $52 billion - $40 billion).  Maximum amount banking system can lend = $60 billion (= 1/.20  $12 billion).  Column (1) data for assets after loans (top to bottom); $52 billion; $48 billion; $160 billion.  Column (1) data for liabilities after loans:  $260 billion.  Monetary multiplier = 5 (= 1/.20).  The decrease in the reserve ratio increases the banking system’s excess reserves from $2 billion to $12 billion and increases the size of the monetary multiplier from 4 to 5.  Lending capacity becomes 5  $12 = $60 billion.

ANSWERS TO END-OF-CHAPTER AND APPENDIX QUESTIONS

Chapter 12

12‑1
(Key Question)  What is the basic determinant of (a) the transactions demand and (b) the asset demand for money?  Explain how these two demands can be combined graphically to determine total money demand.  How is the equilibrium interest rate in the money market determined?  Use a graph to show the impact of an increase in the total demand for money on the equilibrium interest rate (no change in money supply).  Use you general knowledge of equilibrium prices to explain why the previous interest rate is no longer sustainable.


(a) The level of nominal GDP.  The higher this level, the greater the amount of money demanded for transactions.  (b) The interest rate.  The higher the interest rate, the smaller the amount of money demanded as an asset.


On a graph measuring the interest rate vertically and the amount of money demanded horizontally, the two demands for the money curves can be summed horizontally to get the total demand for money.  This total demand shows the total amount of money demanded at each interest rate.  The equilibrium interest rate is determined at the intersection of the total demand for money curve and the supply of money curve.
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With an increase in total money demand, the previous interest rate (i0) is unsustainable because with the new demand for money (Dm1), the quantity of money demanded will exceed the quantity of money supplied.  There would be a shortage of funds and upward pressure on the interest rate.

12-3
(Key Question)  Suppose a bond with no expiration date has a face value of $10,000 and annually pays a fixed amount on interest of $800.  Compute and enter in the spaces provided either the interest rate that the bond would yield to a bond buyer at each of the bond prices listed or the bond price at each of the interest yields shown.  What generalization can be drawn from the completed table?

	
	

	Bond Price
	Interest rate %

	
	

	
	

	$  8,000

9,000

10,000

11,000

13,000
	
	10.0

8.9

8.0

7.3

6.2
	

	
	



Generalization:  Bond price and interest rate are inversely related

12-5
(Key Question) In the table below you will find consolidated balance sheets for the chartered banking system and the Bank of Canada.  Use columns 1 through 3 to indicate how the balance sheets would read after each of transactions a to c is completed.  Do not cumulate your answers; that is, analyze each transaction separately, starting in each case from the figures provided.  All accounts are in billions of dollars.

	

	CONSOLIDATED BALANCE SHEET: ALL CHARTERED BANKS

	
	
	(1)
	(2)
	(3)

	
	
	
	
	

	Assets:


Reserves


Securities


Loans

Liabilities and net worth:


Demand deposits


Advances from the Bank of Canada
	$ 33

60

60

150

3
	_____

_____

_____

_____

_____
	_____

_____

_____

_____

_____
	_____

_____

_____

_____

_____


	

	CONSOLIDATED BALANCE SHEET: 
THE BANK OF CANADA

	
	
	(1)
	(2)
	(3)

	
	
	
	
	

	Assets:


Securities


Advances to chartered banks

Liabilities and net worth:


Reserves of chartered banks


Government of Canada  deposits


Notes in circulation



	$60

3

$33

3

27


	_____

_____

_____

_____

_____


	_____

_____

_____

_____

_____


	_____

_____

_____

_____

_____



	
	
	
	
	


a.
A decline in the discount rate prompts chartered banks to borrow an additional $1 billion from the Bank of Canada.  Show the new balance-sheet figures in column 1 of each table.

b.
The Bank of Canada sells $3 billion in securities to members of the public, who pay for the bonds with cheques.  Show the new balance-sheet figures in column 2 of each table.

c.
The Bank of Canada buys $2 billion of securities from chartered banks.  Show the new balance‑sheet figures in column 3 of each table.

d.
Now review each of the above three transactions, asking yourself these three questions:  (1) What change, if any, took place in the money supply as a direct and immediate result of each transaction?  (2) What increase or decrease in chartered banks’ reserves took place in each transaction?  (3) Assuming a desired reserve ratio of 20 percent, what change in the money‑creating potential of the commercial banking system occurred as a result of each transaction?

(a)
Column (1) data, top to bottom: Bank Assets: $34, 60, 60; Liabilities: $150, 4; Bank of Canada Assets: $60, 4; Liabilities:  $34, 3, 27.

(b)
Column (2) data: Bank Assets: $30, 60, 60;  Liabilities: $147, 3; Bank of Canada Assets: $57, 3, 30, 3, 27.

(c)
Column (3) data (top to bottom):  $35; $58; $60; $150; $3; (Bank of Canada) $62; $3; $35; $3; $27.

(d)
(d1) Money supply (demand deposits) directly changes only in (b), where it decreases by $3 billion; (d2) See balance sheets; (d3) Money-creating potential of the banking system increases by $5 billion in (a); decreases by $12 billion in (b) (not by $15 billion—the writing of $3 billion of cheques by the public to buy bonds reduces demand deposits by $3 billion, thus freeing $0.6 billion of reserves.  Three billion dollars minus $0.6 billion equals $2.4 billion of reduced reserves, and this multiplied by the monetary multiplier of 5 equals $12 billion); and increases by $10 billion in (c).

12-8
(Key Question) Suppose that you are the governor of the Bank of Canada.  The economy is experiencing a sharp and prolonged inflationary trend.  What change in (a) open market operations, and (b) switching government deposits would you consider? Explain in each case how the change you advocate would affect chartered bank cash reserves and influence the money supply.


To reduce inflation, the Bank of Canada would raise interest rates.  This would be accomplished typically through open-market operations (selling bonds), but could also be achieved by switching government deposits from the chartered banks to the Bank of Canada. In both cases it would reduce chartered bank cash reserves.


The restrictive monetary policy would reduce the lending ability of the banking system, increase the real interest rate, reduce investment spending, reduce aggregate demand, and reduce inflation.

ANSWERS TO END-OF-CHAPTER QUESTIONS

Chapter 13

13-1
(Key Question) Use graphical analysis to show how each of the following would affect the economy first in the short run and then in the long run. Assume that Canada is initially operating at its full employment level of output, that prices and wages are eventually flexible both upward and downward, and that there is no counteracting fiscal or monetary policy.

a.
Because of a war abroad, the oil supply to Canada is disrupted, sending oil prices rocketing upward.

b.
Construction spending on new homes rises dramatically, greatly increasing total Canadian investment spending.

c.
Economic recession occurs abroad, significantly reducing foreign purchases of Canadian exports.

(a)
See Figure 13-2 in the chapter. Short run: The aggregate supply curve shifts to the left, the price level rises, and real output declines. Long run: The aggregate supply curve shifts back rightward (due to declining nominal wages), the price level falls, and real output increases.

(b)
See Figure 13-2. Short run: The aggregate demand curve shifts to the right, and both the price level and real output increase. Long run: The aggregate supply curve shifts to the left (due to higher nominal wages), the price level rises, and real output declines.

(c)
See Figure 13-3. Short run: The aggregate demand curve shifts to the left, both the price level and real output decline. Long run: The aggregate supply curve shifts to the right, the price level falls further, and real output increases.

13-5
(Key Question) Suppose the government misjudges the natural rate of unemployment to be much lower than it actually is, and thus undertakes expansionary fiscal and monetary policy 
to try to achieve the lower rate.  Use the concept of the short-run Phillips Curve to explain 
why these policies might at first succeed.  Use the concept of the long-run Phillips Curve to 
explain the long-run outcome of these policies.

In the short-run there is probably a trade-off between unemployment and inflation.  The government’s expansionary policy should reduce unemployment as aggregate demand increases.  However, the government has misjudged the natural rate and will continue its expansionary policy beyond the point of the natural level of unemployment.  As aggregate demand continues to rise, prices begin to rise.  In the long-run, workers demand higher wages to compensate for these higher prices.  Aggregate supply will decrease (shift leftward) toward the natural rate of unemployment.

In other words, any reduction of unemployment below the natural rate is only temporary and involves a short-run rise in inflation.  This, in turn, causes long-run costs to rise and a decrease in aggregate supply.  The end result should be an equilibrium at the natural rate of unemployment and a higher price level than the beginning level.  The long-run Phillips curve is thus a vertical line connecting the price levels possible at the natural rate of unemployment found on the horizontal axis.  

13-7
(Key Question) What is the Laffer Curve and how does it relate to supply side economics?  Why        is determining the location where the economy is on the curve so important in assessing tax policy?

Economist Arthur Laffer observed that tax revenues would obviously be zero when the tax rate was either at 0% or 100%.  In between these two extremes would have to be an optimal rate where aggregate output and income produced the maximum tax revenues.  This idea is presented as the Laffer Curve shown in Figure 13-8.

The difficult decision involves the analysis to determine what is the optimum tax rate for producing maximum tax revenue and the related maximum economic output level.  Laffer argued that low tax rates would actually increase revenues because low rates improved productivity, saving and investment incentives.  The expansion in output and employment and thus, revenue, would more than compensate for the lower rates.

ANSWERS TO END-OF-CHAPTER QUESTIONS

Chapter 14

14-1  
(Key Question)  What are the four supply factors of economic growth? What is the demand factor?  What is the efficiency factor?  Illustrate these factors in terms of the production possibilities curve.

The four supply factors are the quantity and quality of natural resources; the quantity and quality of human resources; the stock of capital goods; and the level of technology.  The demand factor is the level of purchases needed to maintain full employment.  The efficiency factor refers to both productive and allocative efficiency.  Figure 14-1 illustrates these growth factors by showing movement from curve AB to curve CD.

14-5     (Key Question)  Between 1990 and 2005 the Canadian price level rose by about 36 percent while its real output increased by about 52 percent.  Use the aggregate demand-aggregate supply model to illustrate these outcomes graphically.

In the graph shown, both AD and AS expanded over the 1990-2005 period.  Because aggregate supply increased as well as aggregate demand, the new equilibrium output rose at a faster pace than did the price level.  P2 is 36% above P1 and GDP2 is 52% greater than GDP1.  





Price






      AS1




Level







 AS2






       P2







P1











          AD1

          AD2









 
          GDP1    
  GDP2

Real GDP

14-6
(Key Question) To what extent have increases in Canada’s real GDP been the result of more labour inputs? Of increasing labour productivity? Discuss the factors that contribute to productivity growth in order of their quantitative importance.


Refer to Table 14-2. Productivity increasing factors in descending order: (1) Technological advance—the discovery of new knowledge that results in the combining of resources in more productive ways. (2) The quantity of capital. (3) Education and training. Since 1940 the proportion of those in the labour force with a high school education has doubled from 40 to 80 percent. And those with a college or university education have more than doubled from under 10 percent to over 20 percent. (4) Economies of scale and (5) improved resource allocation. Workers have been moving out of lower productivity jobs to higher productivity jobs. Part of this is associated with the increased efficiency often derived from production in larger plants, in which specialization of labour and productivity-increasing methods are possible.

14-9      (Key Question) Relate each of the following to the New Economy:

a. the rate of productivity growth

b. information technology

c. increasing returns

d. network effects

e. global competition

Each of the above is a characteristic of the New Economy.  The rate of productivity growth has grown substantially due to innovations using microchips, computers, new telecommunications devices and the Internet.  All of these innovations describe features of what we call information technology, which connects information in all parts of the world with information seekers.  New information products are often digital in nature and can be easily replicated once they have been developed.  The start-up cost of new firms and new technology is high, but expanding production has a very low marginal cost which leads to economies of scale – firms’ output grows faster than their inputs.  Network effects refer to a type of economy of scale whereby certain information products become more valuable to each user as the number of buyers grows.  For example, a fax machine is more useful to you when lots of other people and firms have one; the same is true for compatible word-processing programs.  Global competition is a feature of the New Economy because both transportation and communication can be accomplished at much lower cost and faster speed than previously which expands market possibilities for both consumers and producers who are not very limited by national boundaries today.

ANSWERS TO END-OF-CHAPTER QUESTIONS

Chapter 15

15-7
(Key Question) The following are hypothetical production possibilities tables for New Zealand and Spain. 


	

	New Zealand’s production possibilities table (millions of bushels)

	
	
	
	

	
	
	
	

	Product
	Production alternatives
	
	

	
	A
	B
	C
	D

	Apples
	0
	
	20
	
	40
	
	60
	

	Plums
	15
	
	10
	
	5
	
	0
	

	
	
	
	
	

	Spain’s production possibilities table (millions of bushels)

	
	
	
	

	
	
	
	

	Product
	Production alternatives
	
	

	
	R
	S
	T
	U

	Apples
	0
	
	20
	
	40
	
	60
	

	Plums
	60
	
	40
	
	20
	
	0
	

	
	
	
	
	



Using a graph, plot the production possibilities data for each of the two countries. Referring to your graphs, determine: (a) Each country’s domestic opportunity cost of producing plums and apples. (b) Which nation should specialize in which product. (c) The trading possibilities lines for each nation if the actual terms of trade are 1 plum for 2 apples. (d) Gains after trade.

(a)
New Zealand’s cost ratio is 1 plum = 4 apples (or 1 apple = 1/4 plum). Spain’s cost ratio is 1 plum = 1 apple (or 1 apple = 1 plum). See the graphs. 

(b)
New Zealand should specialize in apples, Spain in plums. 
(c)
See the graphs.
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 (d)
Total production before specialization and trade: 40 apples (20 + 20) and 50 plums (10 + 40). After specialization and trade: 60 apples and 60 plums. Gain = 20 apples and 10 
plums.

15-9
(Key Question) Refer to Figure 3-6 on page 69. Assume the graph depicts Canada’s domestic market for corn. How many bushels of corn, if any, will Canada export or import at a world price of $1, $2, $3, $4, and $5? Use this information to construct Canada’s export supply curve and import demand curve for corn. Suppose the only other corn-producing nation is France, where the domestic price is $4. Why will the equilibrium world price be between $3 and $4? Who will export corn at this world price? Who will import it?
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At $1: import 15,000. At $2: import 7,000. At $3: no imports or exports. At $4: export 6,000. At $5: export 10,000.


Canada will export corn, France will import it.

15-10
(Key Question) Draw a domestic supply and demand diagram for a product in which Canada does not have a comparative advantage. What impact do foreign imports have on domestic price and quantity? On your diagram show a protective tariff that eliminates approximately one-fourth the assumed imports. What are the price–quantity effects of this tariff to (a) domestic consumers, (b) domestic producers, and (c) foreign exporters? How would the effects of a quota that creates the same amount of imports differ?
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See the graph. Canada does not have a comparative advantage in this product because the world price Pw is below the Canadian domestic price of Pd. Imports will reduce the price of Pw, increasing consumption from non-trade Qc to Qe and decreasing domestic production from Qc to Qa. See the graph. A tariff of PwPt (a) harms domestic consumers by increasing price from Pw to Pt  and decreasing consumption from Qe to Qd; (b) aids domestic producers through the increase in price from Pw to Pt and the expansion of domestic production from Qa to Qb; (c) harms foreign exporters by decreasing exports from QaQe to QbQd.


An import quota of QbQd would have the same effects as the tariff, but there would be no tariff revenues to government from these imports; this revenue would in effect be transferred to foreign producers.

15-16
(Key Question) Identify and state the significance of each of the following: (a) WTO; (b) EU; (c) euro; and (d) NAFTA.  What commonality do they share? 


(a) The WTO oversees trade agreements reached by member nations and arbitrates trade disputes among them.  (b) The EU is a trading bloc of 25 European countries who have agreed to abolish tariffs and import quotas on most products and have liberalized the movement of labour and capital within the EU.  (c)  The euro is the common currency that is used by 12 of the original 15 EU countries.  (d) NAFTA is a trade bloc made up of the United Sates, Canada, and Mexico whose purpose is to reduce tariffs and other trade barriers among the three countries.

ANSWERS TO END-OF-CHAPTER QUESTIONS

Chapter 16

16-2
(Key Question) Indicate whether each of the following creates a demand for, or a supply of, French euros in foreign exchange markets:

a.
A Canadian importer purchases a shipload of Bordeaux wine.

b.
An Italian automobile firm decides to build an assembly plant in Halifax.

c.
A Canadian university student decides to spend a year studying at the Sorbonne.

d.
A German manufacturer exports machinery from one French port to another on a Canadian freighter.

e.
Spain incurs a balance of payments deficit in its transactions with France.

f.
A Canadian government bond held by a French citizen matures and the loan amount is paid back to that person..

g.
It is widely believed that the international value of the euro will fall in the near future.


A demand for euros is created in (a), (c), and (f). A supply of euros is created in (b), (d), (e), and (g).

16-3
(Key Question)  Alpha’s balance of payments for 2005 as shown below. All figures are in billions of dollars. What are (a) the balance of trade, (b) the balance on goods and services, (c) the balance on current account, and (d) the balance on capital account? Does Alpha have a balance of payments deficit or surplus? Explain.

	
	
	
	

	Merchandise exports

Merchandise imports

Service exports

Service imports

Net investment income
	+$40

-  30

+  15

-  10

-    5
	
	Net Transfers

Foreign investment in Canada

Canadian investment abroad

Official international reserves
	+$10

+  10

-  40

+  10
	

	
	
	
	



Balance of trade = $10 billion surplus (= exports of goods of $40 billion minus imports of goods of $30 billion). Balance on goods and services = $15 billion surplus (= $55 billion of exports of goods and services minus $40 billion of imports of goods and services). Balance on current account = $20 billion surplus (= credits of $65 billion minus debits of $45 billion). Balance on capital account = $30 billion deficit (= Foreign investment in Canada of $10 billion minus Canadian investment abroad of $40 billion). Balance of payments = $10 billion deficit.

16-7
(Key Question) Explain why the Canadian demand for Mexican pesos is downsloping and the supply of pesos to Canadians is upsloping. Assuming a system of floating exchange rates between Mexico and Canada, indicate whether each of the following would cause the Mexican peso to appreciate or depreciate:

a.
Canada unilaterally reduces tariffs on Mexican products.

b.
Mexico encounters severe inflation.

c.
Deteriorating political relations reduce Canadian tourism in Mexico.

d.
Canada’s economy moves into a severe recession.

e.
The Bank of Canada embarks on a high interest rate monetary policy.

f.
Mexican products become more fashionable to Canadians.

g.
The Mexican government encourages Canadian firms to invest in Mexican oil fields.

h.
The rate of productivity growth in Canada diminishes sharply.


The Canadian demand for pesos is downsloping: When the peso depreciates in value (relative to the dollar) Canadians find that Mexican goods and services are less expensive in dollar terms and purchase more of them, demanding a greater quantity of pesos in the process. The supply of pesos to Canada is upsloping: As the peso appreciates in value (relative to the dollar), Canadian goods and services become cheaper to Mexicans in peso terms. Mexicans buy more dollars to obtain more Canadian goods, supplying a larger quantity of pesos.


The peso appreciates in (a), (f), (g), and (h) and depreciates in (b), (c), (d), and (e).

16-10
(Key Question) Diagram a market in which the equilibrium dollar price of one unit of fictitious currency Zee is $5 (the exchange rate is $5 = Z1). Then show on your diagram a decline in the demand for Zee.

a.
Referring to your diagram, discuss the adjustment options Canada would have in maintaining the exchange rate at $5 = Z1 under a fixed exchange rate system.

b.
How would the Canadian balance of payments surplus that is created (by the decline in demand) get resolved under a system of flexible exchange rates?


See the graph illustrating the market for Zees.

[image: image16.png]Dollar price of one Zee

Quantitiy 38 - 10

S

Q@

Quantity of Zee




(a)
The decrease in demand for Zees from D1 to D2 will create a surplus (bc) of Zees at the $5 price. To maintain the $5 to Z1 exchange rate, Canada must undertake policies to shift the demand-for-Zee curve rightward or shift the supply-of-Zee curve leftward. To increase the demand for Zees, Canada could use dollars or gold to buy Zees in the foreign exchange market; employ trade policies to increase imports from Zeeonia; or enact expansionary fiscal and monetary policies to increase Canadian domestic output and income, thus increasing imports from Zeeonia. Expansionary monetary policy would also reduce the supply of Zees: Zeeons would respond to the resulting lower Canadian interest rates by reducing their financial investing in Canada. Therefore, they would not supply as many Zees to the foreign exchange market.

(b)
Under a system of flexible exchange rates, the bc surplus of Zees (the Canadian balance of payments surplus) will cause the Zee to appreciate and the dollar to appreciate until the surplus is eliminated (at the $4 = Z1 exchange rate shown in the figure).
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